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1m = 100cm
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1m = 100 cm

mehA]l 5m x 5m = 500 cm x 500 cm
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la = 100 m?
ZIAFZES o] Yo] 300 x 150 = 45000 m? = 450a
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1ha = 10000 m? = 100 m X 100 m
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1km? = 100 ha = 10000 a = 1000000 m?
(1) 24km? = 2400 ha = 240000 a = 24000000 m?
(2) 86 ha = 8600 a = 860000 m? = 0.86 km?
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1km? = 100 ha = 10000a = 1000000 m?
2.8km? = 280 ha
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1km? = 100 ha = 10000a
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10000 m? = 100a = 1 ha

24 ha = 2400a = 240000 m?
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4000m? =40 a = 0.4 |ha

10000 m? = 100a = 1 ha
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1km? = 100 ha = 10000a = 1000000 m?
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1t = 1000kg = 1000000 g
(1) 4t = 4000kg

(2) 30g = 0.03kg

(3) 0.05t = 50000 g

(4) 6kg = 0.006
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(1) 1m2 = 10000 cm?

(2) 10000 cm? = 1 m?

(3) 1km? = 1km x 1kmo|BEZ
1000 m x 1000 m = 1000000 m?
w2 4000000 m? = 4km? Yt
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(1) 74m? + 500 m? 4 0.046 m? + 360 m? = 934.046 m?
(2) 0.85a + 240 a + 5.2a = 246.05( a)
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® 100m? @10000a @ 0.1km?
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@ 10000a = 1000000 m?

® 0.1km? = 100000 m?

@ 1ha = 10000 m?

® 10m x 100 m = 1000 m?
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@ 80 km? = 8000 ha

© 90000 m? = 900a = 9 ha

©® 7000 ha

® 7000000 m? = 700002 = 700 ha
@ 0.6km? = 60 ha

® 9000a = 90 ha
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6.5t = 6500 kg
Sk AFAFO] B 6500 + 250 = 26( kg)




